

Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0001 Name of the Student : ABITHA R

Father Name: RAJAMOHAN **Mother Name: AMUTHA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	6.00	36.00	В
2	MICROPROCESSOR LAB	Th.	2	7.00	14.00	B+
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



Results

Invalid Register number / No Results found



Kalapet, Pondicherry

Home

Mother Name: CHELLAMMAL



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0003

Name of the Student : ARUNKUMAR S

Father Name: SUNDARESAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	6.00	36.00	В
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0004 Name of the Student : CITHRA

Father Name: SINGARAVEL

Mother Name: SEETHA LAKSHMI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	7.00	42.00	B+
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	5.00	20.00	С
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0005

Name of the Student : DEEN MOHAMED N

Father Name: NIZAMUDEEN

Mother Name: RAMESHIYA BEGAM

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	7.00	42.00	B+
2	MICROPROCESSOR LAB	Th.	2	9.00	18.00	A+
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name

MICROPROCESSORS & MICROCONTROLLERS

SOFTWARE QUALITY MANAGEMENT



SI. No.

1

2

3

4

5

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0006 Name of the Student : DINESH R

Father Name: RAJMOHAN

PROJECT

MICROPROCESSOR LAB

Th Credit Grade Credit Grade Pr Hours Point Point С Th. 6 5.00 30.00 Th. 14.00 Th. 3 6.00 18.00 В Th. 20.00 С 5.00

7.00

Mother Name: KALIAMMAL

28.00

B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Th.

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

CLOUD COMPUTING



Kalapet, Pondicherry

Home

Mother Name: RATHINAMARY



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0007 Name of the Student : ESAQ A

Father Name: ANTONY RAJ

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	6.00	36.00	В
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Mother Name: RATHA

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0008

Name of the Student : EZHILARASAN C

Father Name: CHANDRAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	Α
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0009

Name of the Student : GENEMANOHLIYASHAMUKTHA C

Father Name: CHENDIL KUMAE

Mother Name: SUGANTHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Mother Name: GEETHA

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0010

Name of the Student: HARIPRASATH M

Father Name: MURUGAIYAN

Th Credit Grade Credit SI. No. **Subject Name** Grade Pr Hours Point Point PROJECT Р 1 Th. 6 4.00 24.00 2 MICROPROCESSOR LAB Th. 16.00 MICROPROCESSORS & MICROCONTROLLERS 3 Th. 3 7.00 21.00 B+ 4 CLOUD COMPUTING Th. 32.00 8.00 Α 5 SOFTWARE QUALITY MANAGEMENT Th. 8.00 32.00 Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0012

Name of the Student : LEOSELASTIN C

Father Name: CHARLES Mother Name: LEEMAROSE

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	5.00	30.00	С
2	MICROPROCESSOR LAB	Th.	2	5.00	10.00	С
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0013 Name of the Student : NANDHINI N

Father Name: NALLASIVAM Mother Name:.

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	8.00	24.00	A
4	CLOUD COMPUTING	Th.	4	9.00	36.00	A+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	8.00	32.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home

Results

Result Announced Date: 02/10/2022

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0014 Name of the Student : NISHA G

Father Name: GOVINDASAMY Mother Name: SARAVANI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	Α
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	Α
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	8.00	32.00	Α
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	8.00	32.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Mother Name: SARASWATHI

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0015

Name of the Student: NITHYASHANMUGAM S

Father Name: STALIN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0016

Name of the Student: RAAMPRAKASH R

Father Name: RAVI **Mother Name: EZHILARASI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	5.00	30.00	С
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0017

Name of the Student : RANJITHKUMAR T

Father Name: THANIGACHALAM

Mother Name: DEIVANAI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	4.00	24.00	Р
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home

Mother Name:.



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0018 Name of the Student : REKA K

Father Name: KALIYAMOORTHU

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	10.00	20.00	0
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	8.00	32.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0019

Name of the Student : RISHIKUMAR T

Father Name: THENNAZHAGAN

Mother Name: RAMANA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home

Mother Name: FATHIMA BEEVI

24.00

В

6.00



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0020

Name of the Student: ROJAMMA M Father Name: RAVICHANDRAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	Α
2	MICROPROCESSOR LAB	Th.	2	7.00	14.00	В+
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Th.

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

SOFTWARE QUALITY MANAGEMENT

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



5

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0021 Name of the Student : SHYAM S

Father Name: SENBHAGAM **Mother Name: MARY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	5.00	30.00	С
2	MICROPROCESSOR LAB	Th.	2	7.00	14.00	B+
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home

Results

Result Announced Date: 02/10/2022

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0022 Name of the Student : SINEKA S

Father Name: SIVA SANKAR **Mother Name: SHANTHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	7.00	42.00	B+
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Mother Name: VALARMATHI

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0023

Name of the Student: SIVANESH J

Father Name: JAYASHANKAR

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade	
1	PROJECT	Th.	6	5.00	30.00	С	
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В	
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+	
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+	
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+	

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0024 Name of the Student : SIVARAJ S

Father Name: SUNDARABABU **Mother Name: INDIRA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	7.00	42.00	B+
2	MICROPROCESSOR LAB	Th.	2	9.00	18.00	A +
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	8.00	32.00	Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0025

Name of the Student : SOMESHWARAN K

Father Name: KASINATHAN

Mother Name: KALAISELVI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home

Mother Name: USHARANI



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0027

Name of the Student: SUNDARA PANDIAN S

Father Name: SHANMUGAVELAYUDHAM

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	5.00	30.00	С
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	7.00	28.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Mother Name: MALLIGA

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0028

Name of the Student: THAMARAI SELVAN S

Father Name: SELVAMANI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	6.00	36.00	В
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	6.00	18.00	В
4	CLOUD COMPUTING	Th.	4	5.00	20.00	С
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	8.00	32.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0029

Name of the Student : THAMIZH AZHAGAN R

Father Name: RAMESH **Mother Name: ALLIRANI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	Α
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home

Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0030

Name of the Student: UDAYAN RAJ D

Father Name: DEENADHAYALAN

Mother Name: CHRISTINMARY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0031 Name of the Student : UDHAYA S

Father Name: SHANKAR **Mother Name: SUTHA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	8.00	48.00	A
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	A
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.



PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



Result Announced Date: 02/10/2022

Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0032 Name of the Student: VIGNESH A

Father Name: ANJAPPAN Mother Name: PUNITHA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	7.00	42.00	B+
2	MICROPROCESSOR LAB	Th.	2	6.00	12.00	В
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	7.00	21.00	B+
4	CLOUD COMPUTING	Th.	4	7.00	28.00	B+
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print



Kalapet, Pondicherry

Home



Results

VI Semester B.Sc. Computer Science August 2022 Examinations

Reg. No.: 19CS0033

Name of the Student : VIJAYAKUMAR M

Father Name: MUNISAMY Mother Name: RAJAKUMARI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	PROJECT	Th.	6	5.00	30.00	С
2	MICROPROCESSOR LAB	Th.	2	8.00	16.00	Α
3	MICROPROCESSORS & MICROCONTROLLERS	Th.	3	5.00	15.00	С
4	CLOUD COMPUTING	Th.	4	6.00	24.00	В
5	SOFTWARE QUALITY MANAGEMENT	Th.	4	6.00	24.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

NOTE: MAY 2020 EXAMINATIONS WERE CONDUCTED IN SEPTEMBER 2020 DUE TO COVID-19 PANDEMIC

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.